normalized X?

[ normalized x? probability |

chiz Chiz_prob
T Entries| 59000 0.16 Entries 59000
107 - Mean 1535 Mean 0.4317
. Std Dev 208 Std Dev 03203
PR (O R L R R L t
hiz e o
=1 Entries 58812 Entries 58812
10 Mean 0.12 - | mean 0.4259
Std Dev Std Dev 0.3217
L 0.2f-- hiz prob
1073 i- - - Entries 58812
E Mean 04259
E 0.08 “ Lstd Dev 0.3217
vy N . N
107°E 0.06
L 0.04
10°F
3 0.02
T s TN PP I U TR P P T PR PO o 1B
k5 B
x 12 o
1.1 i ‘ \ | ‘ i '
fad it
o R 005 ! Il |..\
0 2 4 6 8 10 12 14 16 18 20 0 1 0. 2 O 4 0.5 0.6 . 1
x? Prob(xz)
A F .
5 24 LEEEEE A [EEERE]
2 E
3 22 Lenees FERREEE CEREEE FRRERN
=<
B N )
1.8] L. -
— DQM_VOOOI_ROOOOOOOO1_G\oba|_manOLD_RECO
1.6} = DQM_V0001_R000000001__Global__mkFit100_ RECO
mkFit100tobtec__RECO

Ratio

< x2/ ndf >

1.4

m—— DQM_V0001_R000000001__Global_i

10 102

< X2/ ndf >
N
00

i
T T[T [T [T T I [T TIT T

Ratio

1072

-1
AR(track, jeltS)



	Contents
	Page 1


